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(A) BENI= £B AAN00KN/ MERBZ B EBDBHD 51 DR ABKN/m) (E) HIEBAIMERZ DRI HIED HDBAMBUN/m) 2 LHUEITHEMREANI-STOREERT S Gkl ki
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(C) BB LB AAM00kN/mi LT O K DI BID 1 DB AEKN/ ni) (G) HEFEB A3 LT DRI D HFED DB AEKRN/m) EMBEEIHEEHRRLBEBHRIRHALR
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A) (B) (©) (D) (E) (F) (@) (H) (A) (B) ©) (D) (E) (F) (G) (H)
1) 126.5 1.0 99.0 1.0 - - 11.7 2.3 126.5 1.0 96.7 1.0 - - 11.7 2.3
(2) 128.9 1.0 99.7 1.0 - - 11.4 2.3 128.9 1.0 98.5 1.0 - - 114 2.3
(3) - - 70.6 1.0 - - 9.2 1.8 - - 70.6 1.0 - - 9.2 1.8
( 4) - - 70.6 1.0 - - 9.2 1.8 - - 70.6 1.0 - - 9.2 1.8
( 5) 136.5 1.0 99.1 1.0 - - 13.7 2.7 136.5 1.0 96.9 1.0 - - 13.7 2.7
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